HW.FOR CLASS-9 DATE 27/07/20

Social Science (Geography)

Ch-1 India-Size and Location
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ghort Answer Type Questions (3 Marks)

Long Answer Type Questions (5 Marks)

20. What is meant by Indian Standard 'T'im

% TEST YOURSELY|

ghort ANSWar Type Questions (1 mayk,

{. Name¢ the group of islands lylng in the A

5, Name the countries which gye Bl vabvian fop,

3. What is the latitudinal extent of lmu‘l-‘.hm Ludlin,

4. Where are Maldives Islands tltuatody

. In which year did Suez Canal opent

6. which ideas from India could reach the worlds

7. What is the total land frontier ol India? s

g. In which hemisphere India is locatedy

9. Name the states through which “Tvopic of Gancer'
10. Name the union territories of " ARGOT pannon,

What is the latitudinal and longitudinal extent of tndia? Explain thoks

11.
hnpnrt:lucc.

12. Explain w.hy Ahmedabad and Kollkata are able to see the noon sun exae Uy
overhead in a year but not Delhi,

13. ‘India has a long coastline which is advantageous, Explain,

14. Justify the naming of Indian Ocean alter India,

15. Discuss India and its land routes,

Describe the importance of Indias Central position on the head of Indian

16.

Ocean.

Describe the size and location of India.
a occupying an important and strategic position in

17.
18. Throw more light on Indi
South Asia.

19. India’s land routes

have been important since ancient times, Fxplain,
¢? Why do we need a Standard Mer idian

in India?
oo
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English

Note: Do this in language tair copy.
Don't need to copy the passage.
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Science(Physics)

1- An object travels 16 m in 4 second
then another 16 metre into 2 second
what is the average speed ot the
object.

2- Usha swims in a 90m long pool.She
cover 180 metre in 1 minute by
swimming from one end to other end
and back along the same straight
path find the average speed and
average velocity of Usha.

3- A car travel 40 kilometre in 30
minute and next 40 kilometre in 40
minutes calculate the average speed
for the entire journey.
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4- Body travels a distance of 10 km
with a constant speed of 30 km per
hour and then the next 40 km at a
constant speed ot 50 kilometre per
hour find the average speed of whole
journey.

5- Starting from a stationary position
Rahul pedals his bicycle to attend a
velocity of 6 metre per second in 30
seconds then he applies brakes such
that velocity of the bicycle comes
down to 4 metre per second in the
next five second calculate the
acceleration ot bicycle in both cases.
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6- An artificial satellite orbits in a
circular path the height of the
satellite trom the surtace ot earth is
36000 km such a satellite is called
geostationary satellite when the
satellite is exactly ee vertically
upward the ground station it sends a
signal how much time will the signal
take to reach the ground station the
speed of signal is 3x10*8metre per
second.
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